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1) Complete the following dialoque between Ahmed and Medhat

Ahmed : My uncle gave me a new mobile for my birthday.
Medhat : ?
Ahmed : Yes, it was very expensive .but | was foolish.

Medhat : ?
Ahmed : | repaired it at the mobile service shop on the corner .
Medhat : Is!it OK now ?

Ahmed :

Medhat : Can | see it, please ?

Ahmed

3) Complete the sentences with these words.

astronomer - astronaut - orbits — solar system - lens - lines

Do you know that Mars is one of the eight planets in ours. .system
?

Azza loves studying the stars and planets. She wants to be a/an ==-=---------- when
she grew up

The best cameras have a very good The lights in the correct
amount

The the Earth once every 27 days

Reading comprehension
3) Read the following passage then answer the questions
Captain Scott was a famous English soldier. He loved adventure and wanted to go
to the middle of Antarctica. In 1910, Scott started his tripmithifour other people. If
they got there, they would be the first people to walk to the middle of Antarctica. It
was a long and difficultwalk, but in January 1911, they finallysarrivedsHowever,
Scott found that he was not the first
person to walk there. A man called Roald Amundsen and his team arrived one
month earlier. What'did Captain Scott do that was different to Roald Amundsen?
Captain Scott did not have the modern equipment that Roald Amundsen had and
he did not know how to travel in the snow as well as Roald Amundsen
Answer the following questions:
1 -Why did Captain Scott want to go to Antarctica?
2- What did Captain Scott discover when he arrived in 1911?
3- How do you think Captain Scott felt when he made this discovery? Say why.
4 The underlined word they refer to
a) Scott and his team b) Roald c) Antarctica d) equipment
5 The first person to walk there was
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a) Scott b) Roald c) No one d) Both of them
6- The synonym of the word " modern" is -
a) old b) old-fashioned c) recent d) ancient

5) Choose the correct answer :
1- The idea of bags of air in modern trainers came from the design of spacemen's =-----seeeeeeeee-

a) ship b) trainers c) boats d) helmet
2-Neil Armstrong was the first to walk on the moon .
a) astronaut b) astronomer c) astrologer d) space

3- When you throw something into the air,, it returns again because of

a) attraction bY gravity c) size d) weight
4- We add the prefix to the adjeclive usual to give its antonym .

a) dis b) il c)un d) im
5-We add the suffix to the word wire to hive its opposite

a) less b) able c) tion d) ness

6-A device that can react to light , heat , pressure , etc. do or show something is

called ---------
a) a satellite b) GPS c) a brace d)a sensor
5- Complete the sentences with the correct form of the words in brackets :
1- He ( waited ) for half an hour now .
2- He came and then it ( begin ) to rain.
3- By the time | went out, it ( has begun') to rain.
4- | ( never meet ) a celebrity before

6 - Write one hundred and.ten words on the following
space exploration




